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2019
- PHILOSOPHY
( Major )
Paper : 5.3
( Contemporary Western Philosophy )

Pull Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7
et Tere AR Te for

(a) ‘‘The world is the totality of facts, not of
things.”” Who is associated with the

statement?
- “fRymere oY TR, I T 1 @ SfRehe
FHoS FHS APRTE (@I ?
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(2)

(b) Among the following philosophers, who is

the author of the book, Principia Ethica?

frare wfee™ 9@ Principia Ethica
AN 271 e @2

(i) Gilbert Ryle
[Rgsiik e

(ii} G.E. Moofe
&2 x

(iii) Wittgenstein

TRBCIRR

(iv] A.l. Ayer

9. (8. 9N

( Choose the correct alternative )

(d)

(e)

(3]

Who among the following was a member of
both Cambridge and Oxford philosopher?

fare e Rose  @mea wfiRe
@S S SHETS T wed Toy ke 2

(i} G.E.Moore
&2 @

(ii) Bertrand Russell

aﬁ{rew‘

(iii) Ludwig Wittgenstein
TaRl TR

( Choose the correct alternative )

( v ReFseor A Sierean )

Who is the father of Logical positivism?

( % R fd Sferear ) IR AR TR (T ?
{c) According to Russell, a fact is either true or @ Ilflytc D r:aﬁ::cs /Soi the | dualism of
false. Is it true? ' ato/Lescartes/spimoza.
( Choose the correct alternative )
- qum‘?m’ B O Vo7 O PR | gy bl B oflec Jaagic SR IR T
FfRfRa | (o et A Sferea )
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(4) ' (5)

(g} Analytic philosophers generally believed 3. Answer any three of the following questions :

that philosophical problems arise out of our 5x3=15
failure to use properly. ‘ woTe fag 2PPTRd R I bR Tes o -
( Fill in the gap )

(a) Explain briefly Wittgenstein’s view on

Regari wfaeE TRTws fap SR

rivate language.
@ wFT TP R W QT Wil P EHag
____ % qifond ITN IR 94 =8 | fEere R od TRhesiRAiaR o ¥, vie
( 19 372 o 1 ) LA
2. Answer briefly the following questions : Ix4=8 (b) Discuss briefly the kinds of facts recognized

by Russell in his logical atomism.

ToTS fraT eI oY Ty ford -
IHER TR RNRMS $L[{ AFEE & 1%,

(a) Write two differences between atomic and

molecular proposition. X Al
AT e NIRF JH Jo W EBT (c) What is ‘official doctrine’ according to
12T o | Ryle? Discuss. -

(b) What does Ryle mean by ‘Cartesian model’? 2o o FRITE ©G ! & 2 SAce F40 0

T2 BRI qeewt” e R @iReR 2 |

. . . (d) State some examples put forward by
What is atomic fact according to Russell? Wittgenstein to explain the concept of
Mo WS ARARF 9 3 2 " language game.

What do you mean by ‘Family SAM (4 WRGT T R e
Resemblance’? : TRhrsizERe SOl gy Swredd ey

“offeiies e’ W R gE e Eall

( Continued ) 20A/245 ( Turn Over )




(6)

(¢) How did Moore distinguish between
sensation and the object of sensation?

AR HE ALIAMS W V&S Y (@M
MY RoE e 2

(f) Is philosophy linguistic analysis? Disbuss.
i SR RO A 2 WA ]

4. Answer any three of the following questions :
' 10x3=30

TS ol erpigEd | e fofatr e fo

(a) What do you mean by logical atomism?
Explain and examine Russell’s view.

S RNREW A B Jo 2 (R IS W
e I = Ro[ 747 |

Who are the principal exponents of analytic
movement? Bring out the salient features of
the analytic trend in western philosophy.

RO SR 44 @Sl @ @2
1T P<{es fRexerft 4 g fors o

How does Moore attack the proposition
‘Esse est percipi’? Does he thereby refute
idealism? .

TR @EWCE WY ASPHET” AT S
R ? TR TR (D€ SRRAM 397 IRCEAH 2

- 20A /245 ( Continued }

(d)

(e)

1

20A—5000/245

(7)

What is Cartesian dualism? Give a critical
account of Ryle’s refutation of Cartesian
dualism.
IORIA taeIm IF @A ? AR ORI
taedm 49 Rym a3 fompeR e
HSCORT |

““A proposition is a picture of reality.”
Explain after Wittgenstein.

“qb1 359 T JOR foq 1”7 VoI TS
[ A

Explain and examine the language game
theory of Wittgenstein.

TIRABIET SRR (¥F TSRIMG! T W
21 91 |

* % *
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